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62(BRMRE 52— REEE 113.00| 1 R 600 600 of #EE g%éﬁ%%ﬁgA(%ﬁmﬂ&U MRt 2—%&1fl
62| FERMR 5 — REEE 144.00| 1 BRE 600 800 200| & ZE%EE%E%A@%ﬁEEQ&U TRt 5—%&1l
62[BRMRE 52— FER—L 125.00| 1 BFH 600 700 100 1 EE%EE%E%A@%ﬁEEQ&U TRt 5—%&4l
63[FERTT Rt 2—HBHE KB 540.00( 1 B8 200 200 0| 1RE |AEEE(A-BEHSA) MRt 2—%4H
63[ERT Rt 24 —HiBNEE REHE 540.00| 1@ (1) 100 100 0| RE |AEHEBESERFHJED TREVI—FH]
63| ERMR 9 —&EiBHE m=E 146.00| 1 BRI 200 200 of #EE %};&i%ﬁﬁﬁfgmt&z%%ﬁﬁ MRt 2—%&1fl
63| ERMR 9 —&EiBHE £ 68.00| 1 R 200 200 of #EE %};&i%ﬁﬁﬁfgmt&z%%ﬁﬁ MRt 2—%&4fl
6| R R 5—HilHE mEE 73.00| 157 200 200 of E | EHESBOBREEN \hrbos—gm
63| IR R S — R B A (318 44.00|1B57 200 200 of e |THESHESBOERER \mrp g zp)
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